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48298 (B) [TCHBRAHG or PRING]
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No.| B XTEF — I\ g ¥ No.| B XVELF — A g #

1 |1000| gl vs ramom| 30% 306 aox| |1|1000[, 188, vs 155l 30x 305 40z
2[1100| g8 vs B 406 10z 106| |2|1100|, 183, vs 155,408 10 106
3[1200[,h 88, v (B8 | 20 206 108| [3]1200| 188, vs (188, |20% 205 108
4|1300 qj;&%%% vs qjgég(%% 3ok 30t 20a| |4|1300 511%%%3% vs 511%%%% 30k 306 208
511400 1D vs 208 |30&8 60D2F—A 511400 1D vs 20 |30& 60D2F—A
6[1500| 3D vs 40E |408 S5O2F—A 61500 3DE vs 4D (408 SD2F—A
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@®|[1000 vs ZHED
@] 11:00 vs EBHIED
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